
  The Trailer System

GB
1/2023



CAD
Design Software

powered by

The Profi le System

The key ...The key ...

The Profi le System The Clean-Room System

Safety Barriers The Modular Wall System Noise Resist

The Tube Clamping System

The Telescopic System The Linear SystemThe Conveyor System

The Personnel Transfer System The Skid Transfer System The Dust Protection System

  The Profi le System



1

Design Software

Tube
powered by

The Pipe & Joint System

... ... to success !to success !

The Pipe & Joint System

Applications

The ideal modular system
MayTec offers a comprehensive, harmonised 
modular system. All modules can be combined 
in any way conceivable. 

The accessories provide functional and aesthetic 
solutions for a wide range of applications.

Service
The MayTec service is as versatile as the 
MayTec modular system.
You may choose: 

• delivery of standard elements ex-factory
• delivery of profi les, pipes and accesso-  
 ries cut to size according to parts list  
 for customer’s assembly
• delivery of pre-fi tted modular components
• delivery of completely assembled units
• assembly at your premises

Implementation
The MayTec modular system is easy to process 
and quick to assemble. Its fl exible and modular 
construction means it can be easily modifi ed 
and is reusable at any time.

An experienced team will support you in 
implementing the MayTec system, tailored to 
your individual applications, taking into con-
sideration your dimensions, loading capacity 
and stability.

  The Pipe & Joint System

The Trailer System

• assembly and inspection stations
• display systems
• exhibition cabinets and stands
• FiFo shelves
• fl ow shelves

• machine bases
• machine enclosures
• machine guarding
• partitions and protective walls
• plant equipment

• protective and work cabinets
• sequence trolleys
• special shelves
• transfer and supply trolleys
• work stations



2

CAD
Design Software Design Software

Tube
powered by

The key to success !The key to success !

Title DE GB FR ES IT CZ

Product Summary • • • • • •

The Profi le System • • • • •

The Inch System  •

The Pipe & Joint System • •  • •

The Trailer System • •   •

The Conveyor System • • •  •

The Linear System • •

The Modular Wall System • •   •

Safety Barriers • •

The Tube Clamping System • 

The Telescopic System • •   •

MayCAD / MayTube • • • • •

Download at http://maytec.com.de

Summary: Catalogues



3

Table of contents

Article number group Page

 Pipes and profi les .............................................. 4
(21.11) Steel pipes ................................................................... 4

30.1 Steel pipe square .......................................................... 5

(1.11) Profi les ........................................................................ 6

 Castors, footplates, corner protector ................. 8
(1.45) Castors ........................................................................ 8

30.15 Heavy duty castors ...................................................... 10

(21.15) Footplates for pipes .................................................... 12

30.15 Footplate for square .................................................... 15

30.15 Corner protector ......................................................... 16

 Drawbars and couplings .................................. 17
30.16 Drawbars and couplings .............................................. 17



4

(21.11)

21.11.1110.20.01.40  21.11.1110.20.02.40  21.11.1110.20.03.40  21.11.1110.20.04.40 

21.11.1110.20.01.41  21.11.1110.20.02.41  21.11.1110.20.03.41  21.11.1110.20.04.41 

21.11.1110.20.01.42  21.11.1110.20.02.42  21.11.1110.20.03.42  21.11.1110.20.04.42 

21.11.1110.20.05.40  21.11.1110.20.06.40  21.11.1110.20.07.40  21.11.1110.20.08.40 

21.11.1110.20.05.41  21.11.1110.20.06.41  21.11.1110.20.07.41  21.11.1110.20.08.41 

21.11.1110.20.05.42  21.11.1110.20.06.42  21.11.1110.20.07.42  21.11.1110.20.08.42 

21.11.1110.20.09.40  21.11.1110.20.10.40 

21.11.1110.20.09.41  21.11.1110.20.10.41 

21.11.1110.20.09.42  21.11.1110.20.10.42 

Ix = Iy = 

Wx = Wy = 

G =

Ix = Iy = 

Wx = Wy = 

G =

Ix = Iy = 

Wx = Wy = 

G =

Steel pipe Ø 28, Steel pipe Ø 28, Steel pipe Ø 28, Steel pipe Ø 28, 

2.0, black 2.0, white 2.0, ivory 2.0, dark grey

Steel pipe Ø 28, Steel pipe Ø 28, Steel pipe Ø 28, Steel pipe Ø 28, 

2.0, light grey 2.0, dark blue 2.0, light blue 2.0, green

Steel pipe Ø 28, Steel pipe Ø 28,   

2.0, red 2.0, yellow  

Steel pipes Ø 28, ABS coated

moment of inertia cm4

moment of resistance cm3

weight kg/m

moment of inertia cm4

moment of resistance cm3

weight kg/m

moment of inertia cm4

moment of resistance cm3

weight kg/m

pipe, 4 m 

packing unit 1 (10 Pcs)

packing unit 2 (100 Pcs)

pipe, 4 m 

packing unit 1 (10 Pcs)

packing unit 2 (100 Pcs)

pipe, 4 m 

packing unit 1 (10 Pcs)

packing unit 2 (100 Pcs)

Description

Description

Description

wall thickness 2.0 mm

wall thickness 2.0 mm

wall thickness 2.0 mm

Cut specifi cations ï Catalogue "The Pipe & Joint System 1/2018", Numerical key for products 21.02

1.1  1.1 

0.8  0.8 

1.1

1.1  1.1 

0.8  0.8 

1.1

1.1  1.1 

0.8  0.8 

1.1



5

Ix = Iy = 

Wx = Wy = 

G =

30.1.04504502.01.60

 

30.1

45

45

2

wall thickness 2.0 mm

 10.6 10.6       

 4.7 4.7 

 2.7

moment of inertia cm4

moment of resistance cm3

weight kg/m

bar, 6 m 

 

Description

Steel pipe square

Steel pipe square    

45×45×2, black



6

(1.11)

Ix = Iy = 

Wx = Wy = 

G =

1.11.040040.43LP.60  1.11.040080.64LP.60    

1.11.040040.43LP.61 (8) 1.11.040080.64LP.61 (4) 

1.11.040040.43SP.60  1.11.040080.64SP.60    

1.11.040040.43SP.61 (8) 1.11.040080.64SP.61 (4) 

Ix = Iy = 

Wx = Wy = 

G =

Ix = Iy = 

Wx = Wy = 

G =

Ix = Iy = 

Wx = Wy = 

G =

Profi le group 40 mm, E3-slot, P (plain)

moment of inertia cm4

moment of resistance cm3

weight kg/m

bar, 6 m 

packing unit (number)

Description

 9.6 9.6 65.4 17.5

 4.7 4.7 16.4 8.8

 1.5  2.5

light

moment of inertia cm4

moment of resistance cm3

weight kg/m

bar, 6 m 

packing unit (number)

Description

heavy

b
or

e 
h
ol

e 
Ø

5
.0

fo
r 

th
re

ad
 M

6

core hole Ø12.0

for thread M14

core hole Ø12.0

for thread M14

b
or

e 
h
ol

e 
Ø

5
.0

fo
r 

th
re

ad
 M

6

 12.0 12.0 82.0 23.4

 6.0 6.0 20.5 11.7

 2.0  3.8

machining data ï Catalogue "The Profi le System 1/2018", Profi le machining 1.1A

Profi le 40×40, Profi le 40×80,   

4E, LP 6E, LP 

Profi le 40×40, Profi le 40×80,   

4E, SP 6E, SP 



7

(1.11)

Ix = Iy = 

Wx = Wy = 

G =

Ix = Iy = 

Wx = Wy = 

G =

1.11.045045.43LP.60  1.11.045090.64LP.60    

1.11.045045.43LP.61 (8) 1.11.045090.64LP.61 (4) 

1.11.045045.43SP.60  1.11.045090.64SP.60    

1.11.045045.43SP.61 (8) 1.11.045090.64SP.61 (4) 

Ix = Iy = 

Wx = Wy = 

G =

Ix = Iy = 

Wx = Wy = 

G =

Profi le group 45 mm, E4-slot, P (plain)

moment of inertia cm4

moment of resistance cm3

weight kg/m

bar, 6 m 

packing unit (number)

Description

light

moment of inertia cm4

moment of resistance cm3

weight kg/m

bar, 6 m 

packing unit (number)

Description

heavy

core hole Ø12.0

for thread M14

core hole Ø12.0

for thread M14

b
or

e 
h
ol

e

fo
r 

th
re

ad
 M

1
0

machining data ï Catalogue "The Profi le System 1/2018", Profi le machining 1.1A

 13.5 13.5 98.0 27.5

 6.0 6.0 21.8 12.2

 1.9  3.3

 15.5 15.5 126.0 34.0

 6.9 6.9 28.0 15.0

 2.1  4.4

Profi le 45×45, Profi le 45×90,   

4E, LP 6E, LP 

Profi le 45×45, Profi le 45×90,   

4E, SP 6E, SP 



8

(1.45)

s = 10.5 mm

s = 3 mm

d

D
e

a

c b

S

Castors

Fixed castors

Description D a Weight Product No.
Fixed castor with bolt hole Ø100 133 500 g 1.45.11100

Fixed castor with bolt hole, ESD Ø100 133 500 g 1.45.11100E

Fixed castor with bolt hole Ø125 158 900 g 1.45.11125

Fixed castor with fi tting plate Ø100  136 610 g 1.45.12100

Fixed castor with fi tting plate, ESD Ø100  136 610 g 1.45.12100E

Fixed castor with fi tting plate Ø125 161 1,010 g 1.45.12125

Dimensions see table on the right

Technical data 
material: 

• capsule: sheet steel, galvanised

• wheels: solid rubber tyres, grey

Ø100/125 incl. thread protection

max. static load: Fmax 

 Variations

 Castor-Ø 100 mm / 125 mm

Bolt hole type

Fitting plate type

Fixed castor Swivel castor Swivel castor lockable

Castors



9

(1.45)

d

D
e

a

b

c S

d

D
e

a

b

c S

Swivel castors Technical data 
material: 

• capsule: sheet steel, galvanised

• wheels: solid rubber tyres, grey

Ø100/125 incl. thread protection

max. static load: Fmax

Technical data 
material: 

• capsule: sheet steel, galvanised

• wheels: solid rubber tyres, grey

stop fi x: - wheel break

  - swivel break

Ø100/125 incl. thread protection

max. static load: Fmax

Swivel castors lockable

Description D  a Weight Product No.
Swivel castor with bolt hole Ø100 133 680 g 1.45.21100

Swivel castor with bolt hole, ESD Ø100 133 680 g 1.45.21100E

Swivel castor with bolt hole Ø125 158 890 g 1.45.21125

Swivel castor with fi tting plate Ø100 136 780 g 1.45.22100

Swivel castor with fi tting plate, ESD Ø100 136 780 g 1.45.22100E

Swivel castor with fi tting plate Ø125 161 990 g 1.45.22125

Dimensions see table on bottom of page

Description D a Weight Product No.
Swivel castor, lockable with bolt hole Ø100 133 840 g 1.45.31100

Swivel castor, lockable with bolt hole, ESD Ø100 133 840 g 1.45.31100E

Swivel castor, lockable with bolt hole Ø125 158 990 g 1.45.31125

Swivel castor, lockable with fi tting plate Ø100 136 940 g 1.45.32100

Swivel castor, lockable with fi tting plate, ESD Ø100 136 940 g 1.45.32100E

Swivel castor, lockable with fi tting plate Ø125 161 1,090 g 1.45.32125

 Ø100 57 43 2.5 43 Ø57 10.5  Ø12.5 32 800 N

 Ø125 57 43 2.5 43 Ø57 10.5  Ø12.5 32 1,000 N

Castors: Design bolt hole

 Fixed castor Swivel castor
 D b c s b c s d e Fmax

Castors



10

30.15

11

138

11
6

7580

105

11

140

11
0

7580

105

D
50

a

b
c

D
50

a

b

c

Fixed castor Swivel castor Swivel castor lockable

Fixed castor

Swivel castor

Heavy duty castors

Castors

Description D a b c Weight Product No.
Fixed castor with fi tting plate Ø160 195 138 116 1,900 g 30.15.10.160

Description D a b c Weight Product No.
Swivel castor with fi tting plate Ø160 195 140 110 2,600 g 30.15.11.160

Technical data  
material: 

• capsule: sheet steel, galvanised

• wheels: solid rubber tyres, in smooth   

  rolling quality black

max. static load: Fmax = 4.000 N 

Technical data  
material: 

• capsule: sheet steel, galvanised

• wheels: solid rubber tyres, in smooth   

  rolling quality black

max. static load: Fmax = 4.000 N 

 Variations

 Castor Fixed castor Swivel castor

Fitting plate type



11

30.15

D
50

a

b

c

Swivel castor lockable

Castors

Description D a b c Weight Product No.
Swivel castor, lockable w. fi tting plate Ø160 195 140 110 3,100 g 30.15.12.160

Technical data  
material: 

• capsule: sheet steel, galvanised

• wheels: solid rubber tyres, in smooth   

  rolling quality black

stop fi x: - wheel break

  - swivel break

max. static load: Fmax = 4.000 N 



12

(21.15)

o166

10
4

126

M10

O1
66

80 10
5

60
80

9

51

61

9

Footplates

Description Surface   Weight Article No.
Footplate, corner left black   1,873 g 21.15.20.L.1

Footplate, corner left galvanised   1,873 g 21.15.20.L.2

Footplates for pipes
corner left

Delivery unit 
incl. 4 × set screw (black or galvanised)

Technical data 
material: steel

Fastening elements

Description Weight Article No.
Set screw M10×12, with cupped gripping point, black 4.0 g 0.63.0916.10012.1 

Set screw M10×12, with cupped gripping point, galvanised 4.0 g 0.63.0916.10012.2 

4 pcs. per footplate required

Description Weight Article No.
Mounting set for castors 16.8 g 30.15.S1

4 sets per castor required

Single parts of the mounting set

Description Pcs. Weight Article No.
Socket head cap screw DIN 6912, M8×20 1 10.0 g 0.63.D06912.08020 

Washer DIN 433 - 8.4 1 1.3 g 0.62.D00433.08,4

Self locking washers, M8 1 1.5 g 0.62.D2520108 

Hexagonal nut DIN 934 - M8 1 4.0 g 0.61.D00934.08



13

(21.15)

10
4

o166

126

M10

O1
66

80 10
5

60
80

9

51

61

9

Footplates

Technical data 
material: steel

Description Surface   Weight Article No.
Footplate, corner right black   1,873 g 21.15.20.R.1

Footplate, corner right galvanised   1,873 g 21.15.20.R.2

Footplates for pipes
corner right

Delivery unit 
incl. 4 × set screw (black or galvanised)

Fastening elements

Description Weight Article No.
Set screw M10×12, with cupped gripping point, black 4.0 g 0.63.0916.10012.1 

Set screw M10×12, with cupped gripping point, galvanised 4.0 g 0.63.0916.10012.2 

4 pcs. per footplate required

Description Weight Article No.
Mounting set for castors 16.8 g 30.15.S1

4 sets per castor required

Single parts of the mounting set

Description Pcs. Weight Article No.
Socket head cap screw DIN 6912, M8×20 1 10.0 g 0.63.D06912.08020 

Washer DIN 433 - 8.4 1 1.3 g 0.62.D00433.08,4

Self locking washers, M8 1 1.5 g 0.62.D2520108 

Hexagonal nut DIN 934 - M8 1 4.0 g 0.61.D00934.08



14

(21.15)

126o166

10
4

M10

O1
66

80 10
5

60
80

9
51

61

Footplates

Description Surface   Weight Article No.
Footplate, center with post black   1,766 g 21.15.20.MHV.1

Footplate, center with post galvanised   1,766 g 21.15.20.MHV.2

Footplates for pipes
center with post

Technical data 
material: steel

Delivery unit 
incl. 6 × set screw (black or galvanised)

Fastening elements

Description Weight Article No.
Set screw M10×12, with cupped gripping point, black 4.0 g 0.63.0916.10012.1 

Set screw M10×12, with cupped gripping point, galvanised 4.0 g 0.63.0916.10012.2 

6 pcs. per footplate required

Description Weight Article No.
Mounting set for castors 16.8 g 30.15.S1

4 sets per castor required

Single parts of the mounting set

Description Pcs. Weight Article No.
Socket head cap screw DIN 6912, M8×20 1 10.0 g 0.63.D06912.08020 

Washer DIN 433 - 8.4 1 1.3 g 0.62.D00433.08,4

Self locking washers, M8 1 1.5 g 0.62.D2520108 

Hexagonal nut DIN 934 - M8 1 4.0 g 0.61.D00934.08



15

30.15

61

51

80

80

105

10
5 51

61

60

80

60

80

10
4

o4
5

o188

4

Ø10

Footplate for square

Technical data
material: steel

surface: black, powder-coated

Description Weight Product No.
Footplate for square 45, corner 2,180 g 30.15.20

Application
for

• steel pipe square 45×45

• profi le 45×45 

Fastening elements

Description Weight Product No.
Set screw M10×12, with cupped gripping point, black 4.0 g 0.63.0916.10012.1 

1 pcs. per footplate required

Description Weight Product No.
Mounting set for castors 16.8 g 30.15.S1

4 sets per castor required

Single parts of the mounting set

Description Pcs. Weight Product No.
Socket head cap screw DIN 6912, M8×20 1 10.0 g 0.63.D06912.08020 

Washer DIN 433 - 8.4 1 1.3 g 0.62.D00433.08,4

Self locking washers, M8 1 1.5 g 0.62.D2520108 

Hexagonal nut DIN 934 - M8 1 4.0 g 0.61.D00934.08

Description Weight Product No.
Mounting set for footplate with 45 mm square 39.0 g 30.15.S2

4 sets per footplate required

Single parts of the mounting set

Description Pcs. Weight Product No.
Hexagonal screw DIN 931, M8×70 1 31.0 g 0.63.D00931.08070 

Washer DIN 125 - 8.4 2 1.6 g 0.62.D00125.A08,4

Hexagonal nut DIN 985 - M8, self-locking 1 4.8 g 0.61.D00985.08

Footplates



16

30.15

140

5

80

140

20

20

24

40

Corner protector

Description Weight Product No.
Corner protector 950 g 30.15.30

Technical data
material: steel

surface: galvanised

Corner protector

countersink

DIN 74 - Bm8



17

30.16

a

81

619

a

81

619

a

Drawbars and couplings

Description a Weight Product No.
Drawbar 40, with fi xed eyelet 40 11.0 kg 30.16.10.40

Drawbar 45, with fi xed eyelet 45 11.0 kg 30.16.10.45

Description a Weight Product No.
Drawbar 40, with swivel eyelet 40 11.0 kg 30.16.11.40

Drawbar 45, with swivel eyelet 45 11.0 kg 30.16.11.45

Description a Weight Product No.
Coupling 40 40 5.76 kg 30.16.20.40

Coupling 45 45 5.76 kg 30.16.20.45

Technical data
material: steel

surface: galvanised

Technical data
material: steel

surface: galvanised

Technical data
material: steel

surface: galvanised

Drawbars with fi xed eyelet

Couplings

Drawbars with swivel eyelet

Drawbars and couplings



18



19



20

Imprint

Subject to technical modifi cation.

All rights reserved.

Copying - also in parts - only allowed

by written consent.

© MayTec Aluminium Systemtechnik GmbH,

D - 82140 Olching, 2023



MayTec GmbH plant in Olching

Panel storage Profi le machining

Accessory storage Stock of aluminium profi les



KG
B6

30
.0

0.
00

0.
10

01
23

-V
01

Australia Germany USA

MayTec Aluminium
Systemtechnik GmbH
Gewerbering 16
D - 82140 Olching

country code: +49
phone (0) 8142 / 65 40 - 0
fax (0) 8142 / 65 40 - 119
mail@maytec.de
www.maytec.de

MayTec Inc.

901 Wesemann Drive
West Dundee, IL 60118

country code: +1
phone 847 - 429 - 0321
fax 847 - 429 - 0460
mail@maytecinc.com
www.maytecinc.com

MayTec Australia P/L

Unit 8, 175 James Ruse Drive
Rosehill, NSW 2142

country code: +61
phone (0) 2 / 9898 9929
fax (0) 2 / 9638 4086
info@maytec.com.au
www.maytec.com.au

The key ...
to success

MayTec distributor

universal

  effi cient

   functional



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 15%)
  /CalRGBProfile (Adobe RGB \0501998\051)
  /CalCMYKProfile (Coated FOGRA39 \050ISO 12647-2:2004\051)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /UseDeviceIndependentColor
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Remove
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (Europe Prepress)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV <>
    /HUN <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /DEU <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [595.276 841.890]
>> setpagedevice


